- To find the slope of a poiar curve:
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! Arc Length

To find the length of a polar curve r = f (8), a < 6 < b, we regard 0§ as a parame-
ter and write the parametric equations of the curve as

x = rcosf = f(6)cos# y = rsinf = f(f)sin0
Using the Product Rule and differentiating with respect to 6, we obtain
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50, using cos?0 + sin’f = 1, we have
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Assuming that f' is continuous, we can use Formula 1 in Section 6.3 to write the

arc length as
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Therefore, the length of a curve with polar equation r = f(6), a < 6 < b, is
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